Όνομα:…………………………………………..





      ΕΠΑΝΑΛΗΨΗ   ΕΞΙΣΩΣΕΙΣ

1.Λύστε τις παρακάτω εξισώσεις

	χ+ 11 = 36


	3,5 + κ = 6,3
	  x • 5 = 80 
	28 – ψ = 16
	λ – 2,4 = 5 
	4 : x = 8

	χ : 2 = 1   
	600 + x = 750
	18 • γ = 576
	χ : 2,1 = 1,3
	x : 0,4 = 1,6


	25 : x = 5


2. Να λυθούν οι παρακάτω εξισώσεις

	1,8 : x = 6


	x + 50 = 58 + 42
	7 ∙ x = 84
	x –  30 = 90


	x : 2,5 = 4

	x ∙ 3 = 3 ∙ 9
	82 – x = 50,5
	1,5 + x = 8,2



3. Λύστε την εξίσωση 
(x : [image: image2.png]


 ) + 6 = ( 6,5 + 0,5 ∙ 7 ) + 1
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